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QUESTION 1

Which two reports can be retrieved by using the various procedures in the DBMS_METADATA PL/SQL package?
(Choose two.) 

A. DDL report for all objects dependent on a table 

B. DDL report for all the objects stored in a tablespace 

C. DDL report for all the invalidated objects in a schema 

D. data definition language (DDL) report for all the tables in a schema 

Correct Answer: AD 

 

 

QUESTION 2

View Exhibit1 and examine the structure of the EMPLOYEES table. 

View the Exhibit2 and examine the PL/SQL block that you execute for displaying the last name and hire date of the
employees in department ID 60. 
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Which statement is true about the outcome? 

A. It generates an error because RECORD type cannot be used with varrays. 

B. It generates an error because BULK COLLECT cannot be used with varrays. 

C. It executes successfully only if department ID 60 has five or less than five employees. 

D. It executes successfully even if department ID 60 has more than five employees by dynamically extending the
varray. 

Correct Answer: C 

 

 

QUESTION 3

Examine the commands: 
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CREATE TYPE typ_course_tab IS VARRAY(5) OF VARCHAR2(20) 

/ 

CREATE TYPE typ_course_nst 

AS TABLE OF typ_course_tab 

/ 

CREATE TABLE faculty 

(faculty_id NUMBER(5), 

faculty_name VARCHAR2(30), 

courses typ_course_nst) 

NESTED TABLE courses STORE AS course_stor_tab 

/ 

INSERT INTO faculty 

VALUES (101, \\'Jones\\', NULL); 

UPDATE (SELECT courses FROM faculty WHERE faculty_id=101) SET courses = 

typ_course_nst(11,\\'Oracle\\'); 

Which statement is true about the execution of these commands? 

A. All the commands execute successfully. 

B. Only the first two commands execute successfully. 

C. Only the first four commands execute successfully. 

D. Only the first three commands execute successfully. 

Correct Answer: C 

 

 

QUESTION 4

You created an application context successfully. The user OE was granted the EXECUTE privilege on the
DBMS_SESSION package. The user receives this error while setting the value for an attribute within the context: 

SQL> EXECUTE 

DBMS_SESSION.SET_CONTEXT(\\'SALES_ORDERS_CTX\\',\\'ACCOUNT_MGR\\',\\'OE\\'); 

BEGIN DBMS_SESSION.SET_CONTEXT(\\'SALES_ORDERS_CTX\\',\\'ACCOUNT_MGR\\',\\'OE\\'); 
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END; 

* 

ERROR at line 1: 

ORA-01031: insufficient privileges 

ORA-06512: at "SYS.DBMS_SESSION", line 94 

ORA-06512: at line 1 

What is the reason for this error? 

A. The context was created with a package name in the USING clause. 

B. The attribute can be set only in the package associated with the context. 

C. The package associated with the context did not exist at the time of creation of the context. 

D. The value for an attribute of a user-defined context can be set only by the ALTER SESSION command. 

Correct Answer: B 

 

 

QUESTION 5

Which two are major approaches that can be used to reduce the SQL injection by limiting user input? (Choose two.) 

A. Restrict users accessing specified web page. 

B. Use NUMBER data type if only positive integers are needed. 

C. Use dynamic SQL and construct it through concatenation of input values. 

D. In PL/SQL API, expose only those routines that are intended for customer use. 

Correct Answer: AD 
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